Umt 4 - Systems of Equatlons and Inequalities Study Guide

Name SIN _ Period Date

. What value of y satisfies the system of éqmtions- s : Graph?the solution to the system of equations
below? below? -
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3. What is the solution to.the system of (._23 [2\)
equations shown below? Show all work. y
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4. What is the solution to the system of equations 5. Asystem of equations is shown below.
shown below? Show all work. . '
POt into 25—y = 4

= opiiopemsl. (- 2=\
y = =34 CC{\C,O \O.Jh) ¢ of Which operations on the system of equatlons%ould be
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B. % flrsaequatlon by iand add the result
to the equatlon :

C. Multiply the second equatlon by 4 and add the
" result to the first equation.

{ D. Multiply the second equation by <2 and add the :
"~ result to the first equation. Cy" €ates OPWS\W
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6. A movie theater sells small and large boxes of . 7. A system of equatmns%s shown below.
candy. "= mol , ‘ ) -
Y = oAz - =2(ax + 5y = 7)
¢ A small box of candy costs $4.00. 16x + 10y = 18
» Alarge box of candy costs $11.50.
» Atotal of 30 boxes of candy were sold What is the value of x + y? 4 LJ’\) + 65 =1
totaling $225. ‘ -gx-loy =i 2+ 5g=7
. Lo XA 1002\ - 7
How many large boxes of candy were sold? . - ‘ ~
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8.) Which system of equations has exactly one

solution? P e 5()(._,\—-.-»\ N < L - l

9.) Suzi is 24 years older than her cousin Adam. The
sum of Suzi's and Adam’s ages is 0 years old. How old

is Adam? < = SQZI A"_:‘, A QAT
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{D. Jind the location of the point where the lines

10.) Mary is solving a system of linear equations by
graphing. First, she graphed both equations on a
coordinate plane. What should be her next step in
solving the system of linear equations?

A. find the x-intercept of each line
B. find the y-intercept of each line
C. find the measure of the angles where the lines

] ﬁ""“-—j-_?)x \2\,\"—\'52. X=1Z

11.) Sandy paid £52) EEI,{Q h ticketsto a
play. Kira paid® fo dtandié)chl d tickets to the

same play. What is the cost of 2 adult and 1 child ticket?
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12.) John bo : ot do s an odﬁs fo 25 50,
Alicia bough ogs a od s f5) How

much would 1 hot dog and 1 soda cost’

Y\*'Hcr\-do% cosk \=Soda cost

13.) At the school sto eC)pef and@noﬂebooks costa

wh11 en ah o%ébooks cost a total of
(jm hat is the cost of one notebook”

Lu=dL so 225+t50-—-|’§§a ""-‘l%ﬁ;‘g

XK= pen Cost .\]"ncr\'EbK COS\?‘ |
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15.) What value of ysatisfies the system of equations
below?




16.) Tom wants to compare two different plans for

gy membershx 5 t plan charges a
plan
e Tom
creates a graph to fmd the solutmn o thls pair of

equations. Plon 4 vian 2L
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Which statement MOST accurately compares the two
plans?
A, If Tom plans to go to the gym 14 or fewer
times during the month, he will pay less with.-

the second plan N\O(E u) \44\ 204
, 2\
fTom pIans to go to the gym 14 orfewer . .-
times during the month, he w111 pay less with the
first plan. Co

C.If Tom plans to go to the gym 14 or more

17.) Eli created the graph shown below of a system of .
two equations. From the graph, Eli determined that the
system has no solution,
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Which chmce BEST explams whether or not Eh is
correct? ?

A. Eliis correct. The tivo llnes appear to be

parallel, so there is no solution to both

equations.

C. Eliisincorrect. The two lines appear to be
parallel, so there are infinitely many solutions
to the equations,

Eli is correct. The two lines have the same
slope, so there is no solution to both equations.

Eli is incorrect. The two lines have different
slopes, so there is a solution that does not
appear in the graph.

times during the month, he will pay less with the
second plan.

D. If Tom plans to go to the gym 14 or more
times during the month, he will pay less with the
first plan.

18). A system of equations is shown below.

8x - 6y
4x - 9y

—12
5

Which operations on the system of equations
will isolate the y quantity? ?‘@m VZ WL A S
A. Multiply the second equation by 2 and add the
result to the first equation.
Multiply the second equation by -2 and add

the result to the first equation. Oreod:

ProS1 K

C. Multiply the first equation by 9 and the
second equation by ~6 and add the resulting
equations. '

D. Multiply the first equation by -9 and the

second equation by ~6 and add the resulnng
equations




19).  Michael has a jar of dimes and nickels. There

are 152 dimes and nickels in the jar that total

$11.If drepresents the number of dimes and n_
represents the number of nickels, which system .

of equations below represents the situation?

g\ cd¥n=11

0.05%¢+0.10n = 152

4 S% e%uadc%on
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d+mn=11

0.10d+0.5n =152 Qug\ 152 the number of pounds of hamburger meat, x
_ % ' < and number of packages of hot dogs, y, Samuel can
C. [ d+n=182 - buy?
0.05d+0.10n=11 2nd eqpastion
, a s ((A)329x+289y<100  B. 3.29x 1 289y <100
{d*ﬂ“ﬁ? _ x> 10 x> 10 '
0.10d + 0,05 =11 qu.\\)€0¥ v =10 v > 10
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20). Samuel is buying hamburger meat and hot dogs
for a class picnic.
' <
»  He canspendup to $100.
* The hamburger meat costs $3.29 per pound,
and a package of hot dogs costs $2.89.
-»  Samuel wants to buy at least 10 pounds of
hamburger meat and at least 10 packages of
hot dogs. =
system of inequalities models the constraints

C. 3.29%x+ 289y <100
x+y=10

D. 3.29x + 2.89y < 100
x+y>10

21.) What is the x-coordinate of the point of
intersection for the two lines below?

22.) The sum of two numbers is 41.4. The difference
between the two numbers is 7.6. What is the value
of the larger of the two numbers?

B.In which quadrants is the solution set to the system?
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23.) Two functions are shown helow. S &—\—* - 24.) A ‘ = ~
o f(x) = 4x + 2 g The graph represents which system of inequalities?
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What is the value of x where f(x) and g(x) intersect? : O —_ \
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